
Algebra 1
ID: 1

Name___________________________________

  Period____Date________________Assignment
Solve each inequality and graph its solution.

1)  

 

1

 

 + 

 

m ≤ −5

 

−8 −7 −6 −5 −4

2)  −15

 

 ≤ 

  

n − 

 

10

 

−7 −6 −5 −4 −3

3)  

  

n − 

 

1

 

 ≤ 16

 

12 13 14 15 16 17 18 19 20 21

4)  

  

m − 

 

3

 

 > 6

 

6 7 8 9 10 11 12 13 14

5)  

  

m − 

 

9

 

 > −22

 

−18 −17 −16 −15 −14 −13 −12 −11

6)  19

 

 ≥ 

 

x
9

 

167 168 169 170 171 172 173 174

7)  14

 

x > 168

 

9 10 11 12 13 14 15 16 17

8)  31

 

 ≤ 

  

m + 

 

12

 

14 15 16 17 18 19 20 21 22 23 24

9)  

  

x + 

 

12

 

 ≤ −6

 

−20 −19 −18 −17 −16 −15 −14

10)  

  

n − 

 

6

 

 > −7

 

−6 −5 −4 −3 −2 −1 0 1 2 3

11)  12

 

 ≥ 

 

k
11

 

127 128 129 130 131 132 133 134

12)  −11

 

 > 

  

n − 

 

4

 

−9 −8 −7 −6 −5 −4 −3 −2

13)  −6

 

 < 

  

r + 

 

4

 

−12 −11 −10 −9 −8 −7

14)  30

 

 < 

 

19

 

 + 

 

p

7 8 9 10 11 12 13 14 15

15)  

 

n
10

 

 < 11

 

106 108 110 112 114

16)  −11

 

m ≥ 132

 

−14 −13 −12 −11 −10 −9 −8



Algebra 1
ID: 1

Name___________________________________

  Period____Date________________Assignment
Solve each inequality and graph its solution.

1)  

 

1

 

 + 

 

m ≤ −5

 

−8 −7 −6 −5 −4

2)  −15

 

 ≤ 

  

n − 

 

10

 

−7 −6 −5 −4 −3

3)  

  

n − 

 

1

 

 ≤ 16

 

12 13 14 15 16 17 18 19 20 21

4)  

  

m − 

 

3

 

 > 6

 

6 7 8 9 10 11 12 13 14

5)  

  

m − 

 

9

 

 > −22

 

−18 −17 −16 −15 −14 −13 −12 −11

6)  19

 

 ≥ 

 

x
9

 

167 168 169 170 171 172 173 174

7)  14

 

x > 168

 

9 10 11 12 13 14 15 16 17

8)  31

 

 ≤ 

  

m + 

 

12

 

14 15 16 17 18 19 20 21 22 23 24

9)  

  

x + 

 

12

 

 ≤ −6

 

−20 −19 −18 −17 −16 −15 −14

10)  

  

n − 

 

6

 

 > −7

 

−6 −5 −4 −3 −2 −1 0 1 2 3

11)  12

 

 ≥ 

 

k
11

 

127 128 129 130 131 132 133 134

12)  −11

 

 > 

  

n − 

 

4

 

−9 −8 −7 −6 −5 −4 −3 −2

13)  −6

 

 < 

  

r + 

 

4

 

−12 −11 −10 −9 −8 −7

14)  30

 

 < 

 

19

 

 + 

 

p

7 8 9 10 11 12 13 14 15

15)  

 

n
10

 

 < 11

 

106 108 110 112 114

16)  −11

 

m ≥ 132

 

−14 −13 −12 −11 −10 −9 −8



   
Algebra 1

ID: 2
Name___________________________________

  Period____Date________________Assignment
Solve each inequality and graph its solution.

1)  17

 

p > 34

 

−2 −1 0 1 2 3 4 5 6 7

2)  

  

b + 

 

16

 

 < 36

 

17 18 19 20 21 22 23 24 25

3)  26

 

 ≤ 

  

x + 

 

13

 

8 9 10 11 12 13 14 15 16 17

4)  −24

 

 ≥ 

  

v − 

 

7

 

−19 −18 −17 −16 −15 −14 −13 −12

5)  

 

3

 

 + 

 

v > −16

 

−23 −22 −21 −20 −19 −18 −17 −16

6)  3

 

n < 6

 

0 1 2 3 4 5 6 7

7)  16

 

x ≥ −80

 

−10 −9 −8 −7 −6 −5 −4 −3 −2

8)  

  

x − 

 

1

 

 > 15

 

12 13 14 15 16 17 18 19 20

9)  

 

v
17

 

 > 
11

 

17

 

6 7 8 9 10 11 12 13 14 15

10)  

  

n − 

 

3

 

 ≥ 6

 

7 8 9 10 11 12 13

11)  −3

 

n ≥ −36

 

9 10 11 12 13 14 15 16 17

12)  15

 

 > 

 

3

 

 + 

 

r

9 10 11 12 13 14 15

13)  

  

b − 

 

17

 

 ≥ −7

 

6 7 8 9 10 11 12

14)  

 

x
14

 

 ≥ −5

 

−73 −72 −71 −70 −69 −68 −67 −66 −65

15)  

  

a − 

 

11

 

 > −3

 

6 7 8 9 10

16)  −13

 

 ≤ 

 

x
12

 

−158 −157 −156 −155 −154 −153 −152



Algebra 1
ID: 2

Name___________________________________

  Period____Date________________Assignment
Solve each inequality and graph its solution.

1)  17

 

p > 34

 

−2 −1 0 1 2 3 4 5 6 7

2)  

  

b + 

 

16

 

 < 36

 

17 18 19 20 21 22 23 24 25

3)  26

 

 ≤ 

  

x + 

 

13

 

8 9 10 11 12 13 14 15 16 17

4)  −24

 

 ≥ 

  

v − 

 

7

 

−19 −18 −17 −16 −15 −14 −13 −12

5)  

 

3

 

 + 

 

v > −16

 

−23 −22 −21 −20 −19 −18 −17 −16

6)  3

 

n < 6

 

0 1 2 3 4 5 6 7

7)  16

 

x ≥ −80

 

−10 −9 −8 −7 −6 −5 −4 −3 −2

8)  

  

x − 

 

1

 

 > 15

 

12 13 14 15 16 17 18 19 20

9)  

 

v
17

 

 > 
11

 

17

 

6 7 8 9 10 11 12 13 14 15

10)  

  

n − 

 

3

 

 ≥ 6

 

7 8 9 10 11 12 13

11)  −3

 

n ≥ −36

 

9 10 11 12 13 14 15 16 17

12)  15

 

 > 

 

3

 

 + 

 

r

9 10 11 12 13 14 15

13)  

  

b − 

 

17

 

 ≥ −7

 

6 7 8 9 10 11 12

14)  

 

x
14

 

 ≥ −5

 

−73 −72 −71 −70 −69 −68 −67 −66 −65

15)  

  

a − 

 

11

 

 > −3

 

6 7 8 9 10

16)  −13

 

 ≤ 

 

x
12

 

−158 −157 −156 −155 −154 −153 −152



    
                                                     

Algebra 1
ID: 3

Name___________________________________

  Period____Date________________Assignment
Solve each inequality and graph its solution.

1)  −10

 

n > 40

 

−6 −5 −4 −3 −2

2)  −20

 

x ≤ 340

 

−19 −18 −17 −16 −15 −14 −13

3)  12

 

 < 

  

x + 

 

2

 

7 8 9 10 11 12 13 14 15

4)  −10

 

 ≤ 

  

n − 

 

8

 

−4 −3 −2 −1 0 1 2

5)  −7

 

x ≥ −84

 

10 11 12 13 14 15 16

6)  15

 

 > 

  

x + 

 

11

 

0 1 2 3 4 5 6 7 8

7)  −38

 

 > −2

 

m

15 16 17 18 19 20 21 22 23

8)  −1

 

 ≥ 

  

p − 

 

10

 

4 5 6 7 8 9 10 11 12

9)  4

 

x > −64

 

−21 −20 −19 −18 −17 −16 −15 −14 −13

10)  

  

n − 

 

1

 

 > −16

 

−18 −17 −16 −15 −14 −13 −12

11)  

  

x − 

 

1

 

 > −5

 

−7 −6 −5 −4 −3 −2

12)  2

 

 ≤ 

  

r − 

 

14

 

14 15 16 17 18

13)  8

 

 ≥ 

 

k
13

 

99 100 101 102 103 104 105 106 107

14)  −3

 

 < 

  

v + 

 

1

 

−6 −5 −4 −3 −2 −1 0 1

15)  12

 

m < 60

 

3 4 5 6 7 8 9

16)  −361

 

 ≤ −19

 

r

15 16 17 18 19 20 21 22 23



Algebra 1
ID: 3

Name___________________________________

  Period____Date________________Assignment
Solve each inequality and graph its solution.

1)  −10

 

n > 40

 

−6 −5 −4 −3 −2

2)  −20

 

x ≤ 340

 

−19 −18 −17 −16 −15 −14 −13

3)  12

 

 < 

  

x + 

 

2

 

7 8 9 10 11 12 13 14 15

4)  −10

 

 ≤ 

  

n − 

 

8

 

−4 −3 −2 −1 0 1 2

5)  −7

 

x ≥ −84

 

10 11 12 13 14 15 16

6)  15

 

 > 

  

x + 

 

11

 

0 1 2 3 4 5 6 7 8

7)  −38

 

 > −2

 

m

15 16 17 18 19 20 21 22 23

8)  −1

 

 ≥ 

  

p − 

 

10

 

4 5 6 7 8 9 10 11 12

9)  4

 

x > −64

 

−21 −20 −19 −18 −17 −16 −15 −14 −13

10)  

  

n − 

 

1

 

 > −16

 

−18 −17 −16 −15 −14 −13 −12

11)  

  

x − 

 

1

 

 > −5

 

−7 −6 −5 −4 −3 −2

12)  2

 

 ≤ 

  

r − 

 

14

 

14 15 16 17 18

13)  8

 

 ≥ 

 

k
13

 

99 100 101 102 103 104 105 106 107

14)  −3

 

 < 

  

v + 

 

1

 

−6 −5 −4 −3 −2 −1 0 1

15)  12

 

m < 60

 

3 4 5 6 7 8 9

16)  −361

 

 ≤ −19

 

r

15 16 17 18 19 20 21 22 23



 

Algebra 1
ID: 4

Name___________________________________

  Period____Date________________Assignment
Solve each inequality and graph its solution.

1)  96

 

 < −6

 

r

−20 −18 −16 −14 −12

2)  −8

 

 ≥ 

  

r − 

 

15

 

5 6 7 8 9 10

3)  −160

 

 ≥ −8

 

n

18 19 20 21 22 23

4)  

  

p − 

 

8

 

 > −26

 

−22 −20 −18 −16 −14

5)  165

 

 ≤ −15

 

b

−15 −14 −13 −12 −11 −10 −9 −8 −7

6)  

  

r − 

 

15

 

 < −10

 

2 3 4 5 6 7 8 9

7)  12

 

 < 

  

x − 

 

3

 

10 11 12 13 14 15 16 17 18 19

8)  −11

 

b < 132

 

−14 −13 −12 −11 −10 −9

9)  −4

 

 ≥ 

 

−8

 

 + 

 

b

1 2 3 4 5 6 7 8 9

10)  −4

 

v < 4

 

−3 −2 −1 0 1 2 3 4

11)  −11

 

b < −143

 

11 12 13 14 15 16 17 18

12)  15

 

 ≤ 

 

n
19

 

280 282 284 286 288

13)  21

 

 < 

  

x + 

 

14

 

4 5 6 7 8 9 10 11 12

14)  

  

x − 

 

19

 

 > −36

 

−20 −18 −16 −14 −12

15)  

  

x − 

 

16

 

 ≤ −11

 

1 2 3 4 5 6 7 8 9 10

16)  −26

 

 > 

  

k − 

 

7

 

−21 −20 −19 −18 −17 −16



Algebra 1
ID: 4

Name___________________________________

  Period____Date________________Assignment
Solve each inequality and graph its solution.

1)  96

 

 < −6

 

r

−20 −18 −16 −14 −12

2)  −8

 

 ≥ 

  

r − 

 

15

 

5 6 7 8 9 10

3)  −160

 

 ≥ −8

 

n

18 19 20 21 22 23

4)  

  

p − 

 

8

 

 > −26

 

−22 −20 −18 −16 −14

5)  165

 

 ≤ −15

 

b

−15 −14 −13 −12 −11 −10 −9 −8 −7

6)  

  

r − 

 

15

 

 < −10

 

2 3 4 5 6 7 8 9

7)  12

 

 < 

  

x − 

 

3

 

10 11 12 13 14 15 16 17 18 19

8)  −11

 

b < 132

 

−14 −13 −12 −11 −10 −9

9)  −4

 

 ≥ 

 

−8

 

 + 

 

b

1 2 3 4 5 6 7 8 9

10)  −4

 

v < 4

 

−3 −2 −1 0 1 2 3 4

11)  −11

 

b < −143

 

11 12 13 14 15 16 17 18

12)  15

 

 ≤ 

 

n
19

 

280 282 284 286 288

13)  21

 

 < 

  

x + 

 

14

 

4 5 6 7 8 9 10 11 12

14)  

  

x − 

 

19

 

 > −36

 

−20 −18 −16 −14 −12

15)  

  

x − 

 

16

 

 ≤ −11

 

1 2 3 4 5 6 7 8 9 10

16)  −26

 

 > 

  

k − 

 

7

 

−21 −20 −19 −18 −17 −16



        
                                           

Algebra 1
ID: 5

Name___________________________________

  Period____Date________________Assignment
Solve each inequality and graph its solution.

1)  
17

 

16

 

 > 

 

b
16

 

13 14 15 16 17 18 19 20 21 22

2)  

  

x − 

 

5

 

 < −21

 

−18 −17 −16 −15 −14

3)  −21

 

 > −3

 

x

3 4 5 6 7 8 9 10

4)  64

 

 ≥ 4

 

a

13 14 15 16 17 18 19 20

5)  −14

 

 > 2

 

n

−10 −8 −6 −4 −2

6)  −2

 

 > 

 

x
15

 

−35 −34 −33 −32 −31 −30 −29 −28 −27

7)  4

 

 < 

 

−16

 

 + 

 

x

16 17 18 19 20 21 22 23

8)  −169

 

 ≤ 13

 

k

−17 −16 −15 −14 −13 −12 −11 −10

9)  

  

n − 

 

6

 

 ≥ 11

 

13 14 15 16 17 18 19 20 21

10)  

 

1

 

 + 

 

n > 12

 

9 10 11 12 13

11)  0

 

 ≥ 

 

3

 

 + 

 

b

−8 −7 −6 −5 −4 −3 −2 −1

12)  

  

n − 

 

3

 

 < 3

 

3 4 5 6 7 8

13)  −8

 

 > −8

 

m

−4 −3 −2 −1 0 1 2 3 4 5

14)  10

 

x > −50

 

−10 −8 −6 −4 −2 0

15)  −23

 

 ≥ 

  

r − 

 

3

 

−23 −22 −21 −20 −19 −18

16)  −63

 

 ≤ 9

 

n

−11 −10 −9 −8 −7 −6 −5 −4



Algebra 1
ID: 5

Name___________________________________

  Period____Date________________Assignment
Solve each inequality and graph its solution.

1)  
17

 

16

 

 > 

 

b
16

 

13 14 15 16 17 18 19 20 21 22

2)  

  

x − 

 

5

 

 < −21

 

−18 −17 −16 −15 −14

3)  −21

 

 > −3

 

x

3 4 5 6 7 8 9 10

4)  64

 

 ≥ 4

 

a

13 14 15 16 17 18 19 20

5)  −14

 

 > 2

 

n

−10 −8 −6 −4 −2

6)  −2

 

 > 

 

x
15

 

−35 −34 −33 −32 −31 −30 −29 −28 −27

7)  4

 

 < 

 

−16

 

 + 

 

x

16 17 18 19 20 21 22 23

8)  −169

 

 ≤ 13

 

k

−17 −16 −15 −14 −13 −12 −11 −10

9)  

  

n − 

 

6

 

 ≥ 11

 

13 14 15 16 17 18 19 20 21

10)  

 

1

 

 + 

 

n > 12

 

9 10 11 12 13

11)  0

 

 ≥ 

 

3

 

 + 

 

b

−8 −7 −6 −5 −4 −3 −2 −1

12)  

  

n − 

 

3

 

 < 3

 

3 4 5 6 7 8

13)  −8

 

 > −8

 

m

−4 −3 −2 −1 0 1 2 3 4 5

14)  10

 

x > −50

 

−10 −8 −6 −4 −2 0

15)  −23

 

 ≥ 

  

r − 

 

3

 

−23 −22 −21 −20 −19 −18

16)  −63

 

 ≤ 9

 

n

−11 −10 −9 −8 −7 −6 −5 −4



 
Algebra 1

ID: 6
Name___________________________________

  Period____Date________________Assignment
Solve each inequality and graph its solution.

1)  

 

−10

 

 + 

 

n ≥ −13

 

−8 −7 −6 −5 −4 −3 −2 −1 0 1

2)  

 

p
6

 

 ≤ −9

 

−57 −56 −55 −54 −53 −52

3)  

 

x
16

 

 ≤ −19

 

−307 −306 −305 −304 −303 −302

4)  −24

 

 ≤ 

  

m − 

 

13

 

−16 −14 −12 −10 −8 −6

5)  −7

 

 < 

 

x
16

 

−114 −112 −110 −108

6)  56

 

 < −8

 

n

−10 −9 −8 −7 −6 −5 −4 −3

7)  

 

b
2

 

 ≥ −4

 

−13 −12 −11 −10 −9 −8 −7 −6

8)  

  

m − 

 

20

 

 ≥ −21

 

−3 −2 −1 0 1

9)  16

 

 ≥ 

 

x
12

 

187 188 189 190 191 192 193 194 195

10)  7

 

 < 

 

k
9

 

58 59 60 61 62 63 64 65 66

11)  

 

n
5

 

 > −12

 

−64 −63 −62 −61 −60 −59 −58 −57 −56

12)  34

 

 ≤ 

  

x + 

 

14

 

18 19 20 21 22 23

13)  −
14

 

3

 

 ≥ 

 

x
3

 

−16 −15 −14 −13 −12 −11 −10 −9

14)  

 

19

 

 + 

 

n > 25

 

4 5 6 7 8 9 10

15)  −29

 

 > 

  

x − 

 

20

 

−14 −13 −12 −11 −10 −9 −8 −7

16)  1

 

 ≥ 

  

x − 

 

9

 

8 9 10 11 12 13 14 15



Algebra 1
ID: 6

Name___________________________________

  Period____Date________________Assignment
Solve each inequality and graph its solution.

1)  

 

−10

 

 + 

 

n ≥ −13

 

−8 −7 −6 −5 −4 −3 −2 −1 0 1

2)  

 

p
6

 

 ≤ −9

 

−57 −56 −55 −54 −53 −52

3)  

 

x
16

 

 ≤ −19

 

−307 −306 −305 −304 −303 −302

4)  −24

 

 ≤ 

  

m − 

 

13

 

−16 −14 −12 −10 −8 −6

5)  −7

 

 < 

 

x
16

 

−114 −112 −110 −108

6)  56

 

 < −8

 

n

−10 −9 −8 −7 −6 −5 −4 −3

7)  

 

b
2

 

 ≥ −4

 

−13 −12 −11 −10 −9 −8 −7 −6

8)  

  

m − 

 

20

 

 ≥ −21

 

−3 −2 −1 0 1

9)  16

 

 ≥ 

 

x
12

 

187 188 189 190 191 192 193 194 195

10)  7

 

 < 

 

k
9

 

58 59 60 61 62 63 64 65 66

11)  

 

n
5

 

 > −12

 

−64 −63 −62 −61 −60 −59 −58 −57 −56

12)  34

 

 ≤ 

  

x + 

 

14

 

18 19 20 21 22 23

13)  −
14

 

3

 

 ≥ 

 

x
3

 

−16 −15 −14 −13 −12 −11 −10 −9

14)  

 

19

 

 + 

 

n > 25

 

4 5 6 7 8 9 10

15)  −29

 

 > 

  

x − 

 

20

 

−14 −13 −12 −11 −10 −9 −8 −7

16)  1

 

 ≥ 

  

x − 

 

9

 

8 9 10 11 12 13 14 15



 

Algebra 1
ID: 7

Name___________________________________

  Period____Date________________Assignment
Solve each inequality and graph its solution.

1)  15

 

 ≤ 

  

p − 

 

1

 

14 15 16 17 18 19 20

2)  

 

16

 

 + 

 

p > 35

 

17 18 19 20 21 22 23 24

3)  

  

x − 

 

5

 

 ≤ −3

 

−3 −2 −1 0 1 2 3 4 5 6 7

4)  14

 

k ≤ 70

 

3 4 5 6 7 8 9 10

5)  19

 

 > 

 

p
18

 

337 338 339 340 341 342 343 344

6)  12

 

v < 120

 

7 8 9 10 11 12 13 14 15

7)  19

 

 < 

  

n + 

 

15

 

−1 0 1 2 3 4 5 6 7

8)  

  

x + 

 

1

 

 ≥ −3

 

−7 −6 −5 −4 −3 −2

9)  

  

r − 

 

1

 

 > 4

 

0 1 2 3 4 5 6 7 8 9

10)  −45

 

 < 5

 

n

−12 −11 −10 −9 −8 −7 −6 −5

11)  

  

r − 

 

19

 

 ≥ −9

 

5 6 7 8 9 10 11 12 13 14

12)  17

 

k ≥ −272

 

−20 −18 −16 −14 −12

13)  168

 

 > 14

 

r

10 11 12 13 14

14)  

 

−1

 

 + 

 

x ≤ 6

 

2 3 4 5 6 7 8 9

15)  11

 

 ≤ 

  

x + 

 

8

 

−1 0 1 2 3 4 5 6 7

16)  

  

p − 

 

15

 

 ≥ −1

 

9 10 11 12 13 14 15 16 17 18



Algebra 1
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Name___________________________________

  Period____Date________________Assignment
Solve each inequality and graph its solution.

1)  15

 

 ≤ 

  

p − 

 

1

 

14 15 16 17 18 19 20

2)  

 

16

 

 + 

 

p > 35

 

17 18 19 20 21 22 23 24

3)  

  

x − 

 

5

 

 ≤ −3

 

−3 −2 −1 0 1 2 3 4 5 6 7

4)  14

 

k ≤ 70

 

3 4 5 6 7 8 9 10

5)  19

 

 > 

 

p
18

 

337 338 339 340 341 342 343 344

6)  12

 

v < 120

 

7 8 9 10 11 12 13 14 15

7)  19

 

 < 

  

n + 

 

15

 

−1 0 1 2 3 4 5 6 7

8)  

  

x + 

 

1

 

 ≥ −3

 

−7 −6 −5 −4 −3 −2

9)  

  

r − 

 

1

 

 > 4

 

0 1 2 3 4 5 6 7 8 9

10)  −45

 

 < 5

 

n

−12 −11 −10 −9 −8 −7 −6 −5

11)  

  

r − 

 

19

 

 ≥ −9

 

5 6 7 8 9 10 11 12 13 14

12)  17

 

k ≥ −272

 

−20 −18 −16 −14 −12

13)  168

 

 > 14

 

r

10 11 12 13 14

14)  

 

−1

 

 + 

 

x ≤ 6

 

2 3 4 5 6 7 8 9

15)  11

 

 ≤ 

  

x + 

 

8

 

−1 0 1 2 3 4 5 6 7

16)  

  

p − 

 

15

 

 ≥ −1

 

9 10 11 12 13 14 15 16 17 18



 

Algebra 1
ID: 8

Name___________________________________

  Period____Date________________Assignment
Solve each inequality and graph its solution.

1)  −21

 

 < 

  

n − 

 

17

 

−7 −6 −5 −4 −3 −2 −1 0 1

2)  −1

 

 ≤ 

 

x
16

 

−20 −18 −16 −14 −12

3)  

 

11

 

 + 

 

v > 16

 

1 2 3 4 5 6 7 8 9 10

4)  −20

 

 ≥ 

  

v − 

 

20

 

−5 −4 −3 −2 −1 0 1 2 3

5)  

 

b
17

 

 ≥ −7

 

−124 −122 −120 −118

6)  60

 

 ≤ −5

 

n

−15 −14 −13 −12 −11 −10 −9 −8

7)  −20

 

 ≥ 

 

n
9

 

−184 −182 −180 −178

8)  

  

r − 

 

3

 

 ≤ 15

 

13 14 15 16 17 18 19 20 21 22 23

9)  

  

x − 

 

17

 

 < −15

 

−2 −1 0 1 2 3 4 5

10)  

  

n + 

 

20

 

 ≥ 36

 

12 13 14 15 16 17 18 19 20

11)  −37

 

 ≥ 

  

x − 

 

19

 

−22 −20 −18 −16 −14

12)  

 

a
16

 

 > −20

 

−323 −322 −321 −320 −319 −318 −317

13)  

  

m − 

 

14

 

 ≥ −26

 

−16 −14 −12 −10 −8

14)  −23

 

 ≥ 

  

b − 

 

14

 

−12 −11 −10 −9 −8 −7

15)  

 

−15

 

 + 

 

x ≥ −8

 

2 3 4 5 6 7 8 9 10 11

16)  

  

n − 

 

19

 

 < −27

 

−11 −10 −9 −8 −7 −6 −5 −4 −3



Algebra 1
ID: 8

Name___________________________________

  Period____Date________________Assignment
Solve each inequality and graph its solution.

1)  −21

 

 < 

  

n − 

 

17

 

−7 −6 −5 −4 −3 −2 −1 0 1

2)  −1

 

 ≤ 

 

x
16

 

−20 −18 −16 −14 −12

3)  

 

11

 

 + 

 

v > 16

 

1 2 3 4 5 6 7 8 9 10

4)  −20

 

 ≥ 

  

v − 

 

20

 

−5 −4 −3 −2 −1 0 1 2 3

5)  

 

b
17

 

 ≥ −7

 

−124 −122 −120 −118

6)  60

 

 ≤ −5

 

n

−15 −14 −13 −12 −11 −10 −9 −8

7)  −20

 

 ≥ 

 

n
9

 

−184 −182 −180 −178

8)  

  

r − 

 

3

 

 ≤ 15

 

13 14 15 16 17 18 19 20 21 22 23

9)  

  

x − 

 

17

 

 < −15

 

−2 −1 0 1 2 3 4 5

10)  

  

n + 

 

20

 

 ≥ 36

 

12 13 14 15 16 17 18 19 20

11)  −37

 

 ≥ 

  

x − 

 

19

 

−22 −20 −18 −16 −14

12)  

 

a
16

 

 > −20

 

−323 −322 −321 −320 −319 −318 −317

13)  

  

m − 

 

14

 

 ≥ −26

 

−16 −14 −12 −10 −8

14)  −23

 

 ≥ 

  

b − 

 

14

 

−12 −11 −10 −9 −8 −7

15)  

 

−15

 

 + 

 

x ≥ −8

 

2 3 4 5 6 7 8 9 10 11

16)  

  

n − 

 

19

 

 < −27

 

−11 −10 −9 −8 −7 −6 −5 −4 −3
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Solve each inequality and graph its solution.

1)  −33

 

 < 

  

p − 

 

18

 

−20 −18 −16 −14 −12 −10

2)  

  

n − 

 

16

 

 < −18

 

−5 −4 −3 −2 −1 0 1 2 3

3)  

  

r − 

 

15

 

 > −10

 

3 4 5 6 7 8 9 10

4)  −13

 

 < 

  

x − 

 

8

 

−7 −6 −5 −4 −3 −2 −1

5)  

  

n − 

 

1

 

 < 9

 

7 8 9 10 11 12 13 14

6)  11

 

x > 0

 

−3 −2 −1 0 1 2 3 4 5

7)  −114

 

 ≤ −19

 

n

4 5 6 7 8

8)  

 

x
9

 

 > −10

 

−94 −93 −92 −91 −90 −89 −88 −87 −86

9)  40

 

 > −10

 

n

−9 −8 −7 −6 −5 −4 −3 −2 −1

10)  

 

n
10

 

 > −20

 

−204 −203 −202 −201 −200 −199 −198

11)  −1

 

 ≤ 

  

x − 

 

16

 

10 11 12 13 14 15 16 17 18 19

12)  23

 

 > 

 

13

 

 + 

 

n

5 6 7 8 9 10 11 12 13 14

13)  

 

x
12

 

 < −
5

 

6

 

−13 −12 −11 −10 −9 −8

14)  13

 

n < −156

 

−16 −14 −12 −10 −8

15)  −11

 

 > 

 

m
16

 

−179 −178 −177 −176 −175 −174

16)  −85

 

 ≥ 5

 

n

−19 −18 −17 −16 −15 −14 −13
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Solve each inequality and graph its solution.

1)  −33

 

 < 

  

p − 

 

18

 

−20 −18 −16 −14 −12 −10

2)  

  

n − 

 

16

 

 < −18

 

−5 −4 −3 −2 −1 0 1 2 3

3)  

  

r − 

 

15

 

 > −10

 

3 4 5 6 7 8 9 10

4)  −13

 

 < 

  

x − 

 

8

 

−7 −6 −5 −4 −3 −2 −1

5)  

  

n − 

 

1

 

 < 9

 

7 8 9 10 11 12 13 14

6)  11

 

x > 0

 

−3 −2 −1 0 1 2 3 4 5

7)  −114

 

 ≤ −19

 

n

4 5 6 7 8

8)  

 

x
9

 

 > −10

 

−94 −93 −92 −91 −90 −89 −88 −87 −86

9)  40

 

 > −10

 

n

−9 −8 −7 −6 −5 −4 −3 −2 −1

10)  

 

n
10

 

 > −20

 

−204 −203 −202 −201 −200 −199 −198

11)  −1

 

 ≤ 

  

x − 

 

16

 

10 11 12 13 14 15 16 17 18 19

12)  23

 

 > 

 

13

 

 + 

 

n

5 6 7 8 9 10 11 12 13 14

13)  

 

x
12

 

 < −
5

 

6

 

−13 −12 −11 −10 −9 −8

14)  13

 

n < −156

 

−16 −14 −12 −10 −8

15)  −11

 

 > 

 

m
16

 

−179 −178 −177 −176 −175 −174

16)  −85

 

 ≥ 5

 

n

−19 −18 −17 −16 −15 −14 −13
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1)  −4

 

 ≥ 

 

x
20

 

−82 −81 −80 −79 −78 −77 −76

2)  

 

v
12

 

 ≥ −3

 

−39 −38 −37 −36 −35 −34 −33 −32 −31

3)  

  

b + 

 

11

 

 < 5

 

−10 −8 −6 −4 −2

4)  −42

 

 ≤ −7

 

p

3 4 5 6 7 8 9

5)  −153

 

 ≥ −9

 

k

13 14 15 16 17 18 19 20

6)  4

 

 > 

 

x
17

 

64 65 66 67 68 69 70 71 72 73

7)  

  

b + 

 

8

 

 < 20

 

7 8 9 10 11 12 13 14 15 16 17

8)  
8

 

15

 

 > 

 

p
15

 

4 5 6 7 8 9 10 11 12

9)  

  

n − 

 

20

 

 ≥ −30

 

−14 −13 −12 −11 −10 −9 −8 −7 −6

10)  −9

 

 < 

  

n − 

 

7

 

−6 −5 −4 −3 −2 −1 0 1 2

11)  11

 

 > 

 

−3

 

 + 

 

n

10 11 12 13 14 15 16 17 18

12)  12

 

x < 144

 

7 8 9 10 11 12 13 14

13)  −7

 

k ≤ 77

 

−13 −12 −11 −10 −9

14)  

 

n
15

 

 ≤ 7

 

102 104 106 108 110

15)  −37

 

 ≤ 

  

x − 

 

20

 

−20 −18 −16 −14 −12

16)  

 

a
12

 

 > 12

 

139 140 141 142 143 144 145 146 147
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1)  −4

 

 ≥ 

 

x
20

 

−82 −81 −80 −79 −78 −77 −76

2)  

 

v
12

 

 ≥ −3

 

−39 −38 −37 −36 −35 −34 −33 −32 −31

3)  

  

b + 

 

11

 

 < 5

 

−10 −8 −6 −4 −2

4)  −42

 

 ≤ −7

 

p

3 4 5 6 7 8 9

5)  −153

 

 ≥ −9

 

k

13 14 15 16 17 18 19 20

6)  4

 

 > 

 

x
17

 

64 65 66 67 68 69 70 71 72 73

7)  

  

b + 

 

8

 

 < 20

 

7 8 9 10 11 12 13 14 15 16 17

8)  
8

 

15

 

 > 

 

p
15

 

4 5 6 7 8 9 10 11 12

9)  

  

n − 

 

20

 

 ≥ −30

 

−14 −13 −12 −11 −10 −9 −8 −7 −6

10)  −9

 

 < 

  

n − 

 

7

 

−6 −5 −4 −3 −2 −1 0 1 2

11)  11

 

 > 

 

−3

 

 + 

 

n

10 11 12 13 14 15 16 17 18

12)  12

 

x < 144

 

7 8 9 10 11 12 13 14

13)  −7

 

k ≤ 77

 

−13 −12 −11 −10 −9

14)  

 

n
15

 

 ≤ 7

 

102 104 106 108 110

15)  −37

 

 ≤ 

  

x − 

 

20

 

−20 −18 −16 −14 −12

16)  

 

a
12

 

 > 12

 

139 140 141 142 143 144 145 146 147


